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& 3.15. 1(b) fim.
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3.16  — MEHUE S A& R R [ 10kHz,

(D) W E e | @GS, RVFREE R a2,

(2) BRI FE AR 2R f, = 8kHz X5 5 HEAT #RE , o0 M AR X e s %o ) =
SkHz {55 1 52 5

(3) W RBAMAEAG 5 Fem W f, = 9kHz, HE (2) i),
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(1) PR [ = 10k Haz, 7 L A0S 220 6 1 @05 5 S0 (0 SRR 400 56 91 B 7 A
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(2) X F fo=8kHz, B 8 &% M5 5 . WAL S5 R &SRB /NT f/2=
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(1) k{551 DFT;

(2) 18 T 15 00 25 56 3IF Parseval 23,
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_ 1 Tk 2k
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ZA B RERZE 2 Go Ry DET, [
X)) =¢ =9, X(I)=¢c =4, X@2)=¢=0
X3 =¢c;,=1, XM4)=¢c, =0, XB)=c =4
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3.18 X R mfE S
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— mn o 1 S —
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(2) H ERER IBESEHIE S ER
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(2) Cp— 3
0 k=7
fi# .
(1) 8% co=cos “t-sin 25, iy DESCHO 3. 4.6 ) .1
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k=0 k=0 0 n#— b + 8!

MK
1 L J77r/ 6 6k
o = HLe® e Lo — ]
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3.21 4 X(WORFH GO N & DFT,0<n ,<N—1,JFHE X TFXZE
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H(k) =
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(3) N iz GO A i ()5

(DO N o, WAL re (),

fi# .

(O HWH

Ly i
5 (e e

x,(n) =
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il
N
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X'(b) = X(2) | w5 k=0,1,2,3,4

(D) R ) Z 2 X(2);

(2) 3k X'(B);

(3) R X' (Wi DFT, B 2" () 5

(D K25 2 Z AR, LIRS R
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(3.3) KPS
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\ 1 1 1
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.
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